Run N R? [NOZ]comp P([Noz]comp =0) Vdep
(ppb) (%) (ems™1)
Q. agrifolia 1, light
1 13 0.979 0.056 £0.013 42.7 0.10+0.013
2 13 0.950 0.046 £0.19 63.7 0.12+0.023
3 16 0.978 0.099 4+ 0.086 3.87 0.15£0.016
4 16 0.958 0.0774+0.14 28.7 0.124+0.021
All 58 0.927 0.08040.10 11.6 0.12+0.012
Q. agrifolia 2, light
1 16 0.963 0.10+0.12 10.3 0.08 +0.011
2 5 0.969 —0.01£0.96 83.8 0.12+£0.014
3 9 0.997 0.023£0.032 20.3 0.16+0.011
4 16 0974 —0.019 £0.074 61.9 0.14£0.017
5 15 0979 0.0154+0.082 72.7 0.12+0.014
All 61 0.845 —0.0077£0.091 91.6 0.11+£0.014
Q. agrifolia 3, light
1 11 0.969 0.016+0.18 87.4 0.121+0.024
2 15 0.961 0.074+0.16 39.1 0.18 £0.029
3 5 0.990 0.30£0.20 5.9 0.12£0.038
All 31  0.830 0.019 £0.064 77.6 0.14 +0.029
All Q. agrifolia, light 150  0.885 0.030£0.072 41.3  0.123£0.0092
Q. agrifolia 1, dark
1 16 0.964 0.056+0.14 0.9*  0.022£0.0034
Q. agrifolia 2, dark
1 16 0.858 —0.16 £0.47 50.8 0.016£0.0050
2 12 0932 —0.34+£0.40 11.8  0.013 £0.0038
All 28 0.853 —0.24+0.32 15.6  0.015+0.0030
Q. agrifolia 3, dark
1 14 0.900 —0.30+0.48 24.1  0.015+£0.0042
2 11 0.909 —0.001 £0.69 36.7 0.015+£0.0057
All 25  0.898 —0.22+0.38 25.3  0.014+0.0029
All Q. agrifolia, dark 69 0.881 —0.16+0.24 12.2  0.015+0.0018




